
cg';'lr ! 

ufpFkflnsfsf] ;Dklt tyf jxfn ljj/0f 

qm=;+= 3/÷5fk|f]÷sf]7f b//]6 

 

cf=a=)&*÷)७( 

sf] k|Ifk0f 

;do s}lkmot 

1 
k'/fgf] 6x/f ;AhL d08L b'O 

sf]7f 
4500 54000 dfl;s 

12 

2 8]/L a;]sf] k|lt sf]7f 1500 18000 dfl;s 12 

3 aw;fnf a;]sf] k|lt sf]7f 3000 36000 dfl;s 12 

4 v;L ;+sng s]Gb| 5000 60000 dfl;s 12 

5 vfg]kfgL ejg k|lt sf]7f 1500 18000 dfl;s 12 

6 Pu|f]e]6 k|lt sf]7f 1500 18000 dfl;s 12 

7 AofSaxf] nf]8/ ef8f= 7000 700000 b}lgs 100 

8 
ljleGg ;fdfu|L 9'jfgL 

jfktsf] s/ / 3/ axfn s/ 

10 

k|ltzt 
100000   

  

 

cg';'lr @ M Jojzfo s/ 

qm=;+= ljj/0f b//]6 
cf=a=)&*÷)&( sf] 

k|Ifk0f 
s}lkmot 

s= Jofkfl/s j:t" 

1= dlb/f k;n dfl;s 

  /S;L, ljo/sf] l8:6«Jo'6;{ 400 0 0 

  
/S;L, ljo/sf] v'b|f ljlqm 

k;n÷vfhf gf:tf k;n 
150 36000 20 

2= 
r'/f]6÷;'lt{hGo -w'd|kfg 

k;n_ 
dfl;s 

  
r'/f]6, lj8L, ;'tL{hGo kbf{ysf] 

yf]s k;n 
250 0 0 

  

r'/f]6, lj8L, ;'tL{hGo kbf{ysf] 

v'b|f k;n 
150 36000 20 

# xNsf k]o kbf{ys{f] k;n dfl;s 

  xNsf k]o kbf{ysf] yf]s k;n 50 0 0 

  xNsf k]o kbf{ysf] v'b|f k;n 40 14400 30 

$= ;'g rfFbL k;n dfl;s 

  ;'g, rfFbL k;n 100 4800 4 

%= cf}iflw Joj;fo dfl;s 

  
cf}iflw v'b|f k;n -8fS6/ 

gePsf]_ 
100 6000 5 

  
xj{n pTkfbg tyf cfo'j]lbs 

cf}iflw v'b|f k;n 
50 1200 2 

  Pu|f]e]6 v'b|f k;n 50 3000 5 
^= :6];g/L tyf k':ts k;n  dfl;s 



  
:6];g/L tyf k':ts v'b|f 

k;n  
50 2400 4 

  kmf]6f] :6'l8of] 50 2400 4 

&= s:d]6Ls k;n dfl;s 

  s:d]6Ls v'b|f k;n 50 2400 4 

*= KnfO{ tyf UofF; xfp; 50 1200 2 

(= sk8f tyf km]G;L k;n dfl;s 

  

sk8f, km]G;L tyf Jofu v'b|f 

k;n, h'Qf, rKkn yf]s k;n, 

v'b|f k;n 

50 12000 20 

!)= wfuf], 6fFs, km:g/ k;n dfl;s 

  wfuf], 6fFs, km:g/ yf]s k;n 50 600 1 

  wfuf], 6fFs, km:g/ v'b|f k;n 40 9600 20 

!!= 
O{n]S6«f]lgs ;fdfu|L ljlqm 

k;n 
dfl;s 

  
cl8of], lel8of], Sof;]6 tyf 

df]jfO{n k;n 
50 1800 3 

  ljB't ;fdfu|L v'b|f k;n 50 1200 2 

!@= 

xf8{ 

jo/÷d]lzg/L÷k]G6÷;]g]6/L 

tyf dfj{n k;n 

dfl;s 

  

xf8{ 

jo/÷d]lzg/L÷k]G6÷;]g]6/L 

tyf dfj{n v'b|f k;n 

50 2400 4 

!#= k]6«f]lnod kbfy{ dfl;s 

  
k]6«f]lnod kbfy{ Ps dfq kDk 

ePsf] 
100 0 0 

!$= vfBfGg, ls/fgf, v"b|f k;n 100 48000 40 

!%= kmnkm'n k;n dfl;s 

  kmnkm'n yf]s k;n 100 1200 1 

  kmnkm'n v'b|f k;n 50 12000 20 

!^= ;fu;JhL k;n dfl;s 

  
;fu;AhL yf]s tyf v'b|f 

k;n 
50 6000 10 

v= pTkfbg d'ns pBf]u 

!&= 3/]n' s'6L/ pBf]u dfl;s 

  cu/ aQL pBf]u 100 1200 1 

  d}g aQL pBf]u 100 1200 1 

  l6sL pBf]u 100 1200 1 

  crf/ pBf]u 100 1200 1 

  cGo s'l6/ pBf]u 100 24000 20 

  s'6fgL, k]nfgL ldn -xn/ ;d]t_ 100 90000 75 

  dd{t ;Def/ kf6{ lalqm 100 3600 3 



u= ko{6g pBf]u 

!*= 
xf]6n, nh P08 

ef]hgfno 
dfl;s 

  xf]6n, ef]hgfno 100 3600 3 

  vfhf gf:tf k;n 100 60000 50 

 
rfpldg pBf]u 100 12000 10 

!(= 
ldi7fg÷Sof6l/Ë 

k;n 
dfl;s 

  ldi7fg k;n 100 6000 5 

20= 6]06 xfp; dfl;s 

  
ljh'nL 8]sf]/]zg 

;lxtsf] 6]06 xfp; 
50 600 1 

  ;fbf 6]06 xfp; 40 2400 5 

#= ljljw ;]jf  

21= 
a}s tyf ljlQo 

;]jf 
aflif{s 

  
jfl0fHo j+}s k|lt 

zfvf sfof{no  
5000 15000 3 

  n3'ljQ sDkgLx? 2000 30000 15 

  
ljlQo ;xsf/L 

;+:yf 
500 10000 20 

  
s[lif, kz' tyf 

;]jfd'ns ;xsf/L 

;+:yf 

300 18000 60 

ª= lzIff ;]jf 

24= lghL ljBfno aflif{s 

  dfWoflds ljBfno 5000 0.00   
  cfwf/e't tx 2500   10,000.00  2 

  

dG6]Zj/L tyf lzz' 

:ofxf/ s]Gb| 
2000   4,000.00  2 

25= 
OlG:6Ro'6 tyf 

cg';Gwfg s]Gb| 
aflif{s 

  
sDKo'6/, On]S6«f] 

tyf tflns s]Gb|  
1000 5000 5 

r= dd{t tyf ;+ef/ ;]jf 

26= 
dd{t tyf ;+ef/ 

;]jf 
dfl;s 

  
6fo/ k+Gr/ dd{t 

tyf v/Lb÷lalqm -

kf6{; k;n_ 

  100.00     9,600.00  8 

  Ao'6L kfn{/ ;]jf   40.00    4,800.00  10 



  
df5f, df;' dWo] 

slDtdf @ j6f ;]jf 

Ps} 7fpFdf ePsf] 

  50.00     1,200.00  2 

  
s'g} Ps÷b'O{ jf 

eGbf a9L k|sf/sf] 

df;' lalqm k;n 

  50.00     1,200.00  2 

  
;]jf k|bfos cGo 

Aofj;fo 
  50.00    15,000.00  25 

नोटः एउटै सटरमा एक भन्दा बढी प्रकारको व्यवशाय भएमा मुऱ व्यवशायको वार्षिक/माससक २० 
प्रसिशि रकम जोडेर उठाउने । 

   
cg';'lr # M 

lj1fkg s/  

 

qm= ;+= ljj/0f 

cf=a=)&८÷)&९ 
df k|lt ju{lkm6 

cf=a=)&*÷)७( sf] k|Ifk0f 
s}lkmot 

k6s] ? aflif{s   

1 

xf]l8Ë af]8{, l8=kL=P;= af]8{ tyf 

cGo k|rf/ ;fdu|L ;DaGwL af]8{sf] 

!! :Sjfo/ lkm6 eGbf sd k|lt 

:Sjfo/ lkm6  

0 30 

1500 50 

2 

xf]l8Ë af]8{, l8=kL=P;= af]8{ tyf 

cGo k|rf/ ;fdu|L ;DaGwL af]8{sf] 

!! :Sjfo/ lkm6;Dd k|lt :Sjfo/ 

lkm6 

0 40 

1600 40 

3 

xf]l8Ë af]8{, l8=kL=P;= af]8{ tyf 

cGo k|rf/ ;fdu|L ;DaGwL af]8{sf] 

!! :Sjfo/ lkm6 eGbf a9L k|lt 

:Sjfo/ lkm6  

10 50 

1500 30 

4 leQ]n]vg k|lt :Sjfo/ lkm6 0 25 1500 60 

5 
kf]ndf /fVg]] af]8{x? k|ltaif{ 

k|ltuf]6f 
0 75 

3000 40 

 cg';'lr $ M xf6ahf/ s/ -k|ltlbg_ 

   
qm=;+= ahf/ k;nsf] ljj/0f b//]6 

cf=a=)&*÷)&( sf] 

k|Ifk0f 
s}lkmot 

1 
v'Nnf 

ahf/ 
sk8f k;n k|lt k;n 50 

5000 100 

2 
v'Nnf 

ahf/ 
h'Qf k;n k|lt k;n 50 

5000 100 

3 
v'Nnf 

ahf/ 
/]l8d]8 sk8f k|lt k;n 50 

5000 100 

4 
v'Nnf 

ahf/ 
d;nf t]n k|lt k;n 20 

2000 100 

5 
v'Nnf 

ahf/ 
r'/f s:d]6Ls k|lt k;n 10 

1000 100 



6 
v'Nnf 

ahf/ 
l;b|f ;'s]sf] df5f k|lt k;n 20 

2000 100 

7 
v'Nnf 

ahf/ 
8f]sf] gfDnf] s\rf] k|lt k;n 10 

1000 100 

8 
v'Nnf 

ahf/ 

d'/L sr]/L vf6df /fVg] k|lt 

k;n 
20 

2500 125 

9 
v'Nnf 

ahf/ 
df6f]sf] efF8f k|lt k;n 20 

100 5 

10 
v'Nnf 

ahf/ 
d'lt{ e'O{df a:g] k|lt k;n 15 

150 10 

11 
v'Nnf 

ahf/ 
hfb' v]n v]nfpg ]k|lt k;n 50 

1000 20 

12 
v'Nnf 

ahf/ 

3l8, 6r{, nfO{6 ljlqm ug{] k|lt 

k;n 
20 

1500 75 

13 
v'Nnf 

ahf/ 
7]nfdf cfO{l:qmd k|lt k;n 20 

2500 125 

14 
v'Nnf 

ahf/ 

/+u, clj/, tyf dfnf k|lt 

k;n 
20 

2000 100 

15 
v'Nnf 

ahf/ 
efF8f jt{g k|lt k;n 20 

1000 50 

16 
v'Nnf 

ahf/ 
r'/f]6, ;'lt{ k|lt k;n 20 

1500 75 

17 
v'Nnf 

ahf/ 
ljp, ljhg k|lt k;n 20 

500 25 

18 
v'Nnf 

ahf/ 
ds} kf]n]/ a]Rg] k;n 10 

2000 200 

19 
v'Nnf 

ahf/ 
v;L afv|f ahf/ k|lt uf]6f 5 

5000 1000 

20 
v'Nnf 

ahf/ 

ufO{, uf]?, ax/ e};L /fFuf k|lt 

uf]6f 
15 

9000 600 

21 
v'Nnf 

ahf/ 
rf6 k;n 10 

20000 2000 

22  
v'Nnf 

ahf/ 
l;/s agfpg] 6«ofs\6/sf] 100 

10 1000 

 

cg';'lr % M 
hl8a'l6, sjf8L,d[t lhjhGt'sf] xf8, l;ª, Kjfv lgsf;L ePsf] b/ 

-k|x/L rf}sL ;+u ;dGjo ul/ sfd ug{] _ 

qm=;+= ljj/0f b//]6 cf=a=)&*÷)७( sf] k|Ifk0f s}lkmot 

1 rf/ kfª\u|] 6«s 2500    500,000.00   200  

2 6«ofS6/ 1000    350,000.00      350  

 



cg';'lr ^ M sf7, bfp/f lgsf;L s/sf] b/ 

 

qm=;+= ljj/0f Dfqf b//]6 
cf=a=)&*÷)&( sf] 

k|Ifk0f 
s}lkmot 

1 uf]lnof ;fnsf] sf7 k|lt So' lkm6 10    40,000.00  4000 

2 uf]lnof c;gfsf] sf7 k|lt So' lkm6 5    25,000.00  5000 

3 uf]lnof ;Nnfsf] sf7 k|lt So' lkm6 5    25,000.00  5000 

4 uf]lnof cGo sf7 k|lt So' lkm6 5    25,000.00  5000 

5 bfp/f k|lt r6\6f 500    25,000.00    50  

cg';'lr & M  dgf]/~hg s/ 

 
dgf]/~hg s/sf] b/ 

cf=a=)&*÷)&( 

sf] k|Ifk0f 
s}lkmot 

ljz]if d]nfdf /flvg] dgf]/~hgsf ;fwgnfO{ cg'dlt lbbf k|s[lt 

x]/L k|lt cfO{6d b}lgs ?= %)).— sf b/n] jf Psd'i6 ?= 

@))).— b]vL ?= %))).— ;Dd s/ nufO{g]5 . 

50,000.00    

  

cg';'lr * M 9'Ëf, lu6L,  afn'jf laqmL 

qm=;+= ljj/0f b//]6 
cf=a=)&*÷)७( 

sf] k|Ifk0f 

s}lkmot 

1 lu6L, afn'jf -k|lt 3gld6/_ 

k|lt 3gld6/ 

?=105=86 

Eof^ jfx]s 

85590296.0   ;|f]td} p7fO{g] 

5 . 2 9'Ëf, u"fe]n -k|lt 3gld6/_ 

3 lrK; -k|lt 3gld6/_ 85590296.0       

 hDdf       

 

 

cg';'lr )( M 

!= k|ltlnkL÷kmf]6f]slk ;]jf z'Ns 

qm= 

;+= 
ljj/0f 

cf=a=)&*÷)&( b//]6 s}lkmot 

1 sDKo'6/ lk|G6/af6 k|ltlnkL lbbf 
15 15   



2 kmf]6f]slk z'Ns k|lt slk 
3 3   

3 gSsn k|dfl0ft b:t'/ k|lt k|df0f 

5 5   

4 
lgj]bg z'Ns / k|ltlnkL b:t'/ k|dfl0ft 

z'Ns 

15 15   

2= cfo>f]t d'Nof+sg l;kmfl/; z'Ns 

qm=

;+= 
ljj/0f 

cf=a=)&*÷)&( b//]^ s}lkmot 

1 
aflif{s ?= !) nfv ;Ddsf] l;kmfl/; 

ubf{ 

150 150 5 

2 
aflif{s ?= @) nfv ;Ddsf] l;kmfl/; 

ubf{ 

300 300   

3 
aflif{s ?= #) nfv ;Ddsf] l;kmfl/; 

ubf{ 

500 500   

4 
aflif{s ?= %) nfv ;Ddsf] l;kmfl/; 

ubf{ 

900 900   

5 
%) nfv b]vL ! s/f]8 ;Dd l;kmfl/; 

ubf{  

2000 2000   

6 ! s/f]8 eGbf dfly 

5000 5000   

#= ;Dklt d'NofÍg l;kmfl/; z'Ns 

qm= 

;+ 
ljj/0f 

cf=a=)&*÷)&( b//]6 s}lkmot 

1 ?= !) nfv ;Ddsf] d'NofÍg k|dfl0ftsf] 
300 300   

3 
?= @) nfv b]vL ?= %) nfv ;Ddsf] 

d'NofÍg k|dfl0ftsf] 

700 700   

4 
?= %) nfv b]vL ?= ! s/f]8 ;Ddsf] 

d'NofÍg 

1000 1000   

5 
?= ! s/f]8 b]vL ?= !=% s/f]8 ;Ddsf] 

d'NofÍg k|dfl0ftsf] 

1500 1500   

6 

?= !=% s/f]8 dfly d'NofÍg k|dfl0ft -

l;kmfl/; ;]jf z'Ns k|lt xhf/ ?= ).! 

sf b/n] lnO{g]5 . t/ cWoog k|of]hgsf 

nflu nfUg] z'Nsdf %) k|ltzt 5'6 

lbOg]5 .  

2000 2000   

7 
 3/ hUufsf] k|fljlws d"NofÍgsf] 

cfwf/df ul/g]5 . 

5 k|ltzt 5 k|ltzt   



8 

 ef]lts ;+/rgfsf] d"NofÍg jf ef}lts 

;+/rgfsf] ;DaGwdf l;kmfl/;sf nflu 

gS;fkf; k|df0fkq jf gS;fkf; b:t'/ 

a'emfPsf] lg:;f clgjfo{ k]z ug'{ kg{]5, 

To:tf] k|df0f k]z ug{ g;s]sf] xsdf 

df}h'bf ef}lts ;+/rgfsf] cfsf/k|sf/sf 

cfwf/df nfUg] gSzfkf; b:t'/ a/fa/sf] 

/sd hl/jfgf lnO{ dfq lbO{g]5 / sf]lx 

s;}n] cfˆgf] hUufsf] xs If]qeGbf 

aflx/ kg{] ul/ agfPsf] ef}lts 

;+/rgfsf] d'NofÍg u/fO{ s/ z'Ns 

e'Qmfg ug"{nfO{ pQm hUufsf] :jfldTj 

k|flKtsf] cfwf/ dflgg] 5}g . 

25000 25000   

$= ;fj{hlgs zf}rfno pkof]u ;]jf z'Ns -

k|lt k6s_ 

zf}rfnosf] 

b:t'/  

    

qm=

;+ 
ljj/0f 

cf=a=)&*÷)&( b//]6 s}lkmot 

1 lk;fa ubf{ k|ltJolQm 5 5   

2 lb;f ubf{ k|ltJolQm 10 10   

3 g'xfpbf k|ltJolQm 15 15   

5= lgj]bg btf{, kmf/d, k|df0fkq, tyf 

kl/rokq b:t'/ 

lgj]bg btf{ 

b:t'/  
    

1 lgj]bg kmf/d b:t'/ 10 10   

2 Aojzfo k|df0fkq b:t'/ 5 5   

3 
Jofj;fo gfd;f/L, k|ltlnkL, ;fem]bf/L 

yk36 u/]/ 

150 150   

4 Aofj;fo btf{ b:t'/ 150 150   

5 

AolQmut 36gf btf{ ljnDj ePdf -

;do eGbfkl5 cfodf, ljjfx, ;DaGw 

ljR5]b, j;fO{;/fO{ 

200 200   

6 x/]s 36gfsf] btf{sf] k|ltlnkL 
150 150   

7 
ljBfno cg'dlt÷cku|]6 lgj]bg btf{ 

z'Ns -;fd'bflos_ 

150 150   

8 
ljBfno cg'dlt÷cku|]6 lgj]bg btf{ 

z'Ns -;+:yfut_ 

150 150   



9 
ljBfno btf{÷cku|]6 lgj]bg btf{ 

lgz'Ns -;fd'bflos_ 

150 150   

10 
ljBfno btf{÷cku|]6 lgj]bg btf{ 

lgz'Ns -;+:yfut_ cfwf/e't tx 

150 150   

11 
ljBfno btf{÷cku|]6 lgj]bg btf{ 

lgz'Ns -;+:yfut_ dfWoflds tx 

150 150   

12 
s[lif tyf kz' ;+:yfdf cfpg] ljleGg 

ls;Ldsf lj/fdLsf] gfd btf{ z'Ns 

  10   

13 
ljifout zfvf dfkm{t ;]jf k|bfg ubf{sf] 

;]jf z'Ns 

0 10   

14 ljleGg l;kmfl/; b:t'/ 

0 150   

6= gful/stf k|df0fkq l;kmfl/; b:t'/ 

  150   

1 l;kmfl/; a+zh 

  150   

2 gful/stf k|df0fkq l;kmfl/; c+lus[t 

150 150   

3 hUufsf] gfd;f/L l;kmfl/; 

500 150   

4 gfd, y/ ;+;f]wg ;DalGw l;kmfl/; 

300 150   

5 
5'6 hUuf btf{ l;kmfl/; -d'NofÍgsf] 

cfwf/df k|ltzt tf]Sg]] 

5 k|ltzt 5 k|ltzt   

6 ljB't h8fg l;kmfl/;   150   



7 s_ 3/fol;÷s[lif k|of]hg   150   

  v_ cf}Bf]lus k|of]hg 

%).)) 

150 
  

  
u_ cf}Bf]lus k|of]hg ;fgf]÷O§fe§f 

k|of]hg 

$)).)) 

150 
  

  vfg]kfgL h8fg tyf gfd;f/L l;kmfl/; 

%)).)) 

150 
  

8 
hUuf cBfjlws, dfnkf]tdf 3/ sfod 

l;kmfl/; 

50 
150 

  

9 ljljw tyf ;fdfGo l;kmfl/; b:t''/ 

200 
150 

  

10 ;fd'bfoLs dWo:y ;]jf 

100 
150 

  

11 
c+u|]hLdf l;kmfl/; / ?kfGt/0f k|lt 

l;kmfl/; 

100 
150 

  

12 e'Qmlg ljj/0f l;kmfl/; 
350 150 

  

13 /f]FSsf km's'jf l;kmfl/; 
100 150   

14 
6«fG;kmd{/ h8fg 7fpF;f/Lsf nflu 

l;kmfl/; ubf{ Joj;flos 

100 

150 

  

15 ;+3 ;+:yf btf{ l;kmfl/; 
2,000.00 150   

16 ljjfx ;DaGwL k|dfl0ft l;kmfl/; 

500 
150 

  

17 rfl/lqs÷hGdldtL k|dfl0ft  
150 

150 
  

18 
3/ lgdf{0fsf nflu sf7, bfp/f pknAw 

u/fpg] l;kmfl/; 

150 

150 

  

19 s_ ;h{ldg b:t'/ 
500 150   

20 v_ gftf k|dfl0ft @)).)) 150   

  u_ gftf k|dfl0ft d[ts;+u !)).)) 150   

  3_ 7'nf] pBf]u btf{ !)).)) 150   

  ª_ ;fgf 3/]n' pBf]u btf{ @))).)) 150   

  r_ df]xL nut s§f ;h{ldg 
!%)).)) 150   



  5_ AolQmut 36gf ;DjlGw ;h{ldg  

#)).)) 

150 
  

  h_ cGo ;h{ldg  #)).)) 150   

21 gfjfns k|dfl0ft l;kmfl/; @)).)) 150   

22 ef/t k|j]zf1f l;kmfl/; 
100 150   

23 gftf ;DaGw÷gftf k|dfl0ft l;kmfl/; 

100 
150 

  

24 rf/ lsNnf k|dfl0ft 300 150   

  s_ % /f]klg÷* s¶f;Dd   150   

  v_ !) /f]klg÷ !^ s¶f;Dd !)).)) 150   

  u_ ;f] eGbf dfly 150 150   

  dfnkf]tnfO{ ul/g] 3/af6f] l;kmfl/; 

200 
150 

  

25 s_ % /f]klg÷* s¶f;Dd !)).)) 150   

  v_ !) /f]klg÷ !^ s¶f;Dd 
150 150   

  u_ ;f] eGbf dfly 200 150   

26 hUuf Knl6Ë k|ltlsQf Ps s¶f ;Dd 

3,000.00 
150 

  

27 
hUuf Knl6Ë k|ltlsQf Ps s¶f eGbf 

dfly 

3,500.00 
150 

  

27 of]]hgf ;Demf}tf l;kmfl/; 

100 
150 

  

&= gS;f kf; b:t'/  
      

    clen]lvs/0f    

qm= ;+= ljj/0f 

/fhdfu{ bfofFafofF 

aGg] 3/sf] k|lt ju{ 

km'6 nfUg] b?t'/ ?= 

df  -@)&८÷)&९_ 

rfn' cf= a sf] 

d+l;/ d;fGt 

kl5 lgj]bg 

ug{]sf] xsdf 

s}lkmot 

1 cf/=l;=l; k|m]d :6«Sr/        

  s_ e'O{ tNnf 2.5 2.5   

  v_ k|yd tNnf 2.75 2.75   

  u_ bf;|f] tNnf tyf ;f] eGbf dfly  

3 3   

2 sDkfp08 jfn 1 1   

*= Gofo ;ldlt tkm{ lgj]bg b:t'/ ?= %).))  krf; dfq_ 



 

 

cg';'lr !) M ufpFkflnsfsf] hUufdf nufO{g] dfnkf]t s/  

      
qm= 

;+= 
ljj/0f  b//]6 

 cf=a=)&*÷)७( sf] 

k|Ifk0f 

;do s}lkmot 

1 cAan hUuf  20 2000 jflif{s   

2 bf]od hUuf  15 2500 jflif{s   

3 l;d hUuf  10 1000 jflif{s   

4 rfx/ hUuf  5 500 jflif{s   

cg';'lr !! M 

;fj{hlgs hUuf pkof]u u/]jfkt nufO{g] axfn lj/f}6L s/ 
  

qm=;+= ljj/0f 

  

cf=a=)&*÷)७(sf] 

k|Ifk0f 

s}lkmot 

s= h'Dnf ;8s ;+u hf]l8osf     

1 kSsL÷5t 9nfg 3/ k|lt :Sjfo/ lkm^ ?=3.00 50000   

2 cw{kSsL h:tf 5fgf k|lt :Sjfo/ lkm^ ?=2.00 45000   

3 km';÷6fon÷6f6L k|lt :Sjfo/ lkm^ 50 k};f 40000   

4 vfnL hUuf 3/n] rr{]sf] k|lt s¶f ?= $)).)) 36000   

5 v]lt u/]sf] hUuf k|lt s¶f ?= $)).)) 40000   

v= a8\8Lrf}/ a]lg3f6 ;8s     

1 kSsL÷5t 9nfg 3/ k|lt :Sjfo/ lkm^ ?=2.00 50000   

2 cw{kSsL h:tf 5fgf k|lt :Sjfo/ lkm^ ?=1.00 45000   

3 km';÷6fon÷6f6L k|lt :Sjfo/ lkm^ 50 k};f 40000   

4 vfnL hUuf 3/n] rr{]sf] k|lt s¶f ?= @)).)) 36000   

5 v]lt u/]sf] hUuf k|lt s¶f ?= @)).)) 40000   

u= cGo j8fsf] If]q     

1 kSsL÷5t 9nfg 3/ k|lt :Sjfo/ lkm^ ?=2.00 50000   

2 cw{kSsL h:tf 5fgf k|lt :Sjfo/ lkm^ ?=1.00 45000   

3 km';÷6fon÷6f6L k|lt :Sjfo/ lkm^ 50 k};f 40000   

4 vfnL hUuf 3/n] rr{]sf] k|lt s¶f ?= !)).)) 50000   

5 v]lt u/]sf] hUuf k|lt s¶f ?= !)).)) 60000   

 

 

                                                                       cf1fn], 

6]s axfb'/ jnL 

k|d'v k|zf;sLo clws[t 



tklztM 

a/fxtfn ufp+kflnsfsf] cf=j= @)&*.)&( sf] /fhZj cfo tyf Joosf] k|If]k0f 

qm=;+= 
/fhZj 

;+s]t 
lzif{s 

ut cf=j=  

oyf{t  cfo 

ljj/0f 

Rffn' cf=j=sf] 

jflif{s cg'dflgt 

ljj/0f 

Rffn' cf=j=sf] h]7 d;fGt 

;Ddsf]   cfo ljj/0f 

cfufdLsf] cf=j 

sf]  cg'dflt cfo 

ljj/0f 

1 11313 PsLs[t ;DktL s/ 0 200000 0  

2 11314 e"lds/ ÷dfnkf]t  517550 500000 742426  816668=6 

3 14157 gbL hGo kbfy{-bxt/ axt/_ 7113609 109200 

8933932 9827325=2 

40% 60% 

 3573572.8 5360359.2 

4 11314 jxfn s/ 71367 300000 59601 65561=10 

5 11322 axfn lj6f}nL s/ 0 250000 81590 89749 

6 11631 

s[lif tyf kz'hGo a:t'sf] 

Joj;fo sf/f]jf/df nfUg] 

s/  
0 700000 0 0 

7 14221 GofoLs b:t'/ 0 50000 0 0 

8 14224 kl/Iff b:t'/ 12000 50000 30500 33550 

9 14229 cGo k|zf;lgs ;]jf z'Ns 13500 200000 0 0 

10 14243 l;kmfl/; 340276 500000 417610 459371 

11 14244 k+lhs/0f 87906 100000 91907 101097=7 

12 14245 gftf k|dfl0ft 0 50000 0 0 

13 14249 cGo b:t'/ 12926 200000 133550 146905 

14 14263 hn>f]t ;DaGwL cGo b:t'/ 0 50000 0 0 

14 14253 Joj;fo /lh6\]zg b:t'/ 0 50000 0 0 

15 14229 cGo /fhZj 105979 200000 0 0 

16 14264 cGo If]qsf] cfo 0 300000 0 0 

17 14611 Joj;fo s/ 7050 500000 0 0 

18 

 

u–$ kmf/fd 0 0 11150 12265 

19 

 

b08 hl/jfgf 0 0 28700 31570 

20 

 

6]08/ las|L 128000 0 19450 21395 

21 

 

nf]8/ ef8f÷PDa'n]G; 89000 0 626400 689040 

22 

 

gS;f kf; 7126 0 23280 25608 

23 

 

lgj]bg b:t'/ 0 0 19000 20900 

24 

 

;+3 ;+:yf btf{ tyf gjLa/0f 7300 0 11500 12650 

25 14521 j]?h' c;'nL 0 0 123913 136304=4 

 

hDdf ?= 8513589.0 4309200.0 11354509.0 12489960.0 

 


